COP 3503H Exam #3
11/7/2007

Name: ________________________________
1)(10 pts) Determine the length of the longest common subsequence between the strings 011011010100 and 1010100010. Also, find one common subsequence of this length. To get full credit, you must fill in the grid below as shown in class.
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A longest common subsequence: ___________________________________
2) (10 pts) Determine the number of ways to make change for 13 cents using 2-cent, 3-cent, 4-cent and 9-cent coins. You must fill in the chart below as shown in class in order to receive full credit.
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3) (8 pts) In a contest featuring multiple matches between team A and team B, let the probability that team A wins any match equal p. Assume that the outcome of each match is independent from all of the other matches. Let the function f(n) equal the probability that after playing exactly 2n games, that both team A and team B have exactly n wins AND that at no point in the series has one team been ahead of the other team by more than one match.Write a recurrence relation for f(n+1), in terms of f(n).
________________________________________________________
4) (10 pts) Given the list of items shown below, determine the subset of items with maximum value with a weight of 13 units or less.
	Item
	Weight
	Value

	A
	3
	12

	B
	7
	20

	C
	9
	25

	D
	6
	17

	E
	4
	13


In order to receive full credit, you must fill in the chart below as specified in class:
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Items in knapsack: ____________________________________________
5) (10 pts) Complete the method below so that it runs Floyd-Warshall's algorithm without path reconstruction. The method will take in the initial state of the D-array (which stores estimates of all shortest distances based on the adjacency matrix) and will make changes to that array so that at the end of the method, the array will store the shortest distances between all pairs of vertices in the graph represented by the originial D-array.
public static void Floyd(int[][] D) {

}
6) (2 pt) What U.S. state is directly south of North Dakota? _______________________
7) (50 points) TAKE-HOME MATRIX CHAIN MULTIPLICATION QUESTION

Please put any extra work you would like graded below.
